

## Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS

### SORSOGON FIRST DISTRICT ENGINEERING OFFICE

REGIONAL OFFICE V Guinlajon, Sorsogon City



ief,Construction OSELLE/G.

Contract ID:

25FK0048

Contract Name:

Cluster XI - Convergence and Special Support Program (CSSP) - Sustainable Infrastructure Projects Alleviating Gaps (SIPAG)- Access Roads and/or Bridges from the National Road/s leading to Major/Strategic Public Buildings/Facilities 1.) Construction of Road, Phase II, Barangay Gogon, Donsol, Sorsogon 2.) Construction of Road Barangay Sacnangan, Pilar, Sorsogon

Location of the Contract: Donsol & Pilar, Sorsogon

IVAN MAR D. MANAOIS

CONTRACT AGREEMENT

JUN 24 2025 between Department of Public Works and This AGREEMENT, made this Highways (DPWH) (hereinafter called the "Entity") and KM88 CONSTRUCTION INC. at Penaranda Street, Legazpi City (hereinafter called the "Contractor").

WHEREAS, the Entity is desirous that the CONTRACTOR execute 25FK0048 - Cluster XI- Convergence and Special Support Program (CSSP) - Sustainable Infrastructure Projects Alleviating Gaps (SIPAG)-Access Roads and/or Bridges from the National Road/s leading to Major/Strategic Public Buildings/Facilities 1.) Construction of Road, Phase II, Barangay Gogon, Donsol, Sorsogon 2.) Construction of Road Barangay Sacnangan, Pilar, Sorsogon, hereinafter called "the Works", and the Entity has accepted the Bid for Thirty-Eight Million Three Hundred Sixty-Four Thousand Twenty-Seven Pesos and Forty Eight Centavos (Php 38,364,027.48) by the Contractor for the execution and completion of such Works and remedying of any defects therein.

#### NOW THIS AGREEMENT WITNESSTH AS FOLLOWS:

- 1. In this AGREEMENT, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to.
- 2. The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as part of this Agreement, viz.:
  - a. Philippine Bidding Documents (PBDs)
    - i. Drawings/Plans;
    - ii. Specifications;
    - iii. Bill of Quantities
    - iv. General and Special Conditions of Contract
    - y. Supplemental or Bid Bulletins, if any;
  - b. Winning Bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g. Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- c. Performance Security;
- d. Notice of Award of Contract and the Bidder's conforme thereto; and
- e. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned on the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.
- 3. In consideration for the sum of Thirty-Eight Million Three Hundred Sixty-Four Thousand Twenty-Seven Pesos and Forty-Eight Centavos (Php 38,364,027.48) or such other sums as may be ascertained, KM88 CONSTRUCTION INC. agrees to

CLEMENTE Managing Officer KM88 CONSTRUCTION INC. By: KEN MAR Authorized

> PRISCILLA B. JEBULAN ì District Engineer

Republic of the Philippines (DEPARTMENT OF PLIBLIC WORKS AND HIGHWAYS)

Page 1 of 5

DPWH-INFR-51-2016



# Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS

# SORSOGON FIRST DISTRICT ENGINEERING OFFICE

REGIONAL OFFICE V Guinlajon, Sorsogon City





Contract ID:

25FK0048

Contract Name: Cluster XI - Convergence and Special Support Program (CSSP) - Sustainable Infrastructure Projects Alleviating Gaps (SIPAG)- Access Roads and/or Bridges from the National Road/s leading to Major/Strategic Public Buildings/Facilities 1.) Construction of Road, Phase II, Barangay Gogon, Donsol, Sorsogon 2.) Construction of Road Barangay Sacnangan, Pilar,

Sorsogon

Location of the Contract: Donsol & Pilar, Sorsogon

### ABC - 39,199,990.13

Item Number	Description	Quantity	Unit	Unit Cost (P)	Total Amount
1.) Constru	iction of Road, Phase II, Barangay Gogo	n, Donsol			
PART A - F	ACILITIES FOR THE ENGINEERS	The first section			
A.1.1(8)	Provision of Field Office for the Engineer (Rental Basis)	4.13	mo,	10,773.00	44,492.49
PARTB - C	THER GENERAL REQUIREMENTS				
B.5	Project Billboard/Signboard	2.00	ea.	4,191.00	8,382.00
B.7(2)	Occupational Safety and Health Program	1.00	l.s.	453,600.00	453,600.00
B.8(2)	Traffic Management	1.00	l.s.	181,440,00	181,440,00
B.9	Mobilization/Demobilization	1.00	l.s.	215,250.00	215,250.00
PART C - E	ARTHWORKS		- 4		
102(2)	Surplus Common Excavation	8,830.41	cu.m.	352,71	3,114,573.91
104(1)a	Embankment from roadway/structure excavation, Common Soll	4,771.36	cu.m.	297.35	1,418,763.90
105(1)a	Subgrade Preparation, Common Material	3,361.43	sq.m.	20.48	68,842.09
PART D - S	UBBASE AND BASE COURSE				
	Aggregates Subbase Course	1,712.69	cu.m.	774.02	1,325,656.3
3 7	URFACE COURSE		· · · · · · · · · · · · · · · · · · ·		
311(1)c1	Portland Cement Concrete Pavement (Unreinforced), 0.23m thick, 14 days	3,922.30	sq.m.	1,521.74	5,968,720.80
PART G - I	DRAINAGE AND SLOPE PROTECTION ST	RUCTURES		h	
103(1)a	Structure Excavation, Common Soll	304.39	cu.m.	326.97	99,526.40
103(3)	Foundation Fill	49.69	cu.m.	2,091.07	103,905.27
404(1)a	Reinforcing Steel, Grade 40	9,897.64	kg.	73.74	729,851.9
405(1)a3	Structural Concrete, 20.68 Mpa, Class A, 28 days	102.63	cu.m.	10,299.03	1,056,989.4
500(1)b3	Pipe Culverts, 910 mm dia., Class IV, RCPC	28.00	l.m.	6,521.92	182,613,7
505(2)b	Grouted Riprap, Class B	15.62	cu.m.	4,125.72	64,443.7
506(1)	Stone Masonry	1,854.44	cu.m.	4,120.82	7,641,813.4
1046(2)a2	CHB NonLoad Bearing (Including Reinforcing Steel), 150mm thick	768.32	sq.m.	1,445.89	1,110,906.20
PART H - N	ISCELLANEOUS STRUCTURES				
612(1)	Reflectorized Thermoplastic Pavement Markings White	161.00	sq.m.	840.12	135,259,3
612(2)	Reflectorized Thermoplastic Pavement Markings Yellow	49.97	sq.m.	851.18	42,533.4
				Total 1	23,967,564.52

IVAN MAR D. MANAOIS
Accountant III

KEN MARTIN P. CLEMENTE Authorized Managing Officer

KM88 CONSTRUCTION INC. By:

PRISCILLA B. JEBULAN
District Engineer

Republic of the Philippines (DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS) By:



# Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS

# SORSOGON FIRST DISTRICT ENGINEERING OFFICE

REGIONÁL OFFICE V Guinlajon, Sorsogon City



ROSELLE G. BAJARO hief, Construction Section (Witness)

Contract ID: Contract

Name:

25FK0048

Cluster XI - Convergence and Special Support Program (CSSP) - Sustainable Infrastructure Projects Alleviating Gaps (SIPAG)- Access Roads and/or Bridges from the National Road/s leading to Major/Strategic Public Buildings/Facilities 1.) Construction of Road, Phase II, Barangay Gogon, Donsol, Sorsogon 2.) Construction of Road Barangay Sacnangan, Pilar, Sorsogon

Location of the Contract: Donsol & Pilar, Sorsogon

Item Number	Description	Quantity	Unit	Unit Cost (P)	Total Amount
2.) Constri	uction of Road , Barangay Sacnangan, Pi	lar, Sorsogon	1114		
PART A - 1	FACILITIES FOR THE ENGINEERS				
A.1.1(8)	Provision of Field Office for the Engineer (Rental Basis)	2.47	mo.	10,773.00	26,609.31
PART B - 0	OTHER GENERAL REQUIREMENTS				
B.5	Project Billboard/Signboard	2.00	ea,	4,191.00	8,382.00
B.7(2)	Occupational Safety and Health Program	1.00	l.s.	260,820,00	260,820.00
B.8(2)	Traffic Management	1.00	l.s.	107,730.00	107,730.00
B.9	Mobilization/Demobilization	1.00	l.s.	215,250.00	215,250.00
PART C - E	ARTHWORKS				
100(1)	Clearing and Grubbing	0.98	ha.	138,829.32	136,052.7
102(2)	Surplus Common Excavation	5,431.39	cu,m.	352.17	1,912,772.6
104(1)a	Embankment from roadway/structure excavation, Common Soll	2,121.86	cu.m.	297.82	631,932.3
105(1)a	Subgrade Preparation, Common Material	4,241.51	sq.m.	20,30	86,102.6
PART D - S	SUBBASE AND BASE COURSE	134134			
200(1)	Aggregates Subbase Course	1,818.45	cu.m.	773.78	1,407,080.2
PARTE - S	URFACE COURSE				
311(1)c1	Portland Cement Concrete Pavement (Unreinforced), 0.23m thick, 14 days	3,989,40	sq.m.	1,517.76	6,054,951.7
PARTG -	DRAINAGE AND SLOPE PROTECTION ST	RUCTURES			
500(1)b3	Pipe Culverts, 910 mm dia., Class IV, RCPC	10.00	l.m.	6,523.23	65,232.3
506(1)	Stone Masonry	863.44	cu.m.	3,841.43	3,316,844.3
PART H - I	MISCELLANEOUS STRUCTURES				
612(1)	Reflectorized Thermoplastic Pavement Markings White	164,10	sq.m.	838.95	137,671.7
612(2)	Reflectorized Thermoplastic Pavement Markings Yellow	33.57	cu,m.	864.79	29,031,0
*. *				Total 2	14,396,462.9
				GRAND TOTAL	38,364,027.48
Project Du	ıration: 198 CD.				

in accordance with his/her/its Bid.

4. The Department of Public Works and Highways (DPWH) Sorsogon 1st District Engineering Office agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

IVAN MAR D. MANAOIS
Accountant III

KM88 CONSTRUCTION INC.
By:
KEN MARTIN P. CLEMENTE
Authorized Managing Officer.

PRISCILLA B. JEBULAN District Engineer

Republic of the Philippines (DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS)
By:



# Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS SORSOGON FIRST DISTRICT ENGINEERING OFFICE

REGÍONAL OFFICE V Guinlajon, Sorsogon City



Contract ID:

25FK0048

Contract Name:

Cluster XI - Convergence and Special Support Program (CSSP) - Sustainable Infrastructure Projects Alleviating Gaps (SIPAG)- Access Roads and/or Bridges from the National Road/s leading to Major/Strategic Public Buildings/Facilities 1.) Construction of Road, Phase II, Barangay Gogon, Donsol, Sorsogon 2.) Construction

of Road Barangay Sacnangan, Pilar, Sorsogon

Location of the Contract: Donsol & Pilar, Sorsogon

**IN WITNESS** whereof the parties thereto have caused this Agreement to be executed the day and year first before written.

DPWH-SORSOGON 1ST DISTRICT ENGINEERING OFFICE

KM88 CONSTRUCTION INC.

Represented by:

PRISCILLA B. JEBULAN
District Engineer

Represented By

KEN MARTIN P. CLEMENTE Authorized Managing Officer

Witnessed by:

NIDA D. RELLAMA

OIC Assistant District Engineer

ROSELLE 6/BAJARO
Chief, Construction Section

IVAN MAR D. MANAOIS
Accountant III



### Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS SORSOGON FIRST DISTRICT ENGINEERING OFFICE

REGIONAL OFFICE V Guinlajon, Sorsogon City





IVAN MAR D. MANAOIS
Accountant III
(Witness)

KEN MARTIN P. CLEMENTE Authorized Managing Officer

KM88 CONSTRUCTION INC. By:

Contract ID:

25FK0048

Contract Name:

Cluster XI - Convergence and Special Support Program (CSSP) - Sustainable Infrastructure Projects Alleviating Gaps (SIPAG)- Access Roads and/or Bridges from the National Road/s leading to Major/Strategic Public Buildings/Facilities 1.) Construction of Road, Phase II, Barangay Gogon, Donsol, Sorsogon 2.) Construction of Road Barangay Sacnangan, Pilar, Sorsogon

Location of the Contract: Donsol & Pilar, Sorsogon

Republic of the Philippines)

City of Sorsogon

### **ACKNOWLEDGEMENT**

Before me, Notary Public for and in the City of Sorsogon, personally appeared PRISCILLA B. JEBULAN with Residence Certificate No. 15339501 issued on January 30,2025 at Bibincahan, Sorsogon City in her official capacity as District Engineer, Department of Public Works and Highways, Sorsogon District Engineering Office, Guinlajon, Sorsogon City, representing the Republic of the Philippines and KEN MARTIN P. CLEMENTE with Residence Certificate No. 1989853 issued on January 6,2025 at Legazpi, City to me and to be the same persons who executed the foregoing CONTRACT AGREEMENT and they acknowledged to me the same are their true act and deed for and behalf of the parties they represent.

This instrument consists of Five (5) pages including this page on which the acknowledgment is written duly signed by the Contracting Parties and their witnesses on the left margin of the other pages.

IN WITNESS WHEREOF, I have hereunto affixed my signature and seal this Philippines.

Doc. No.:

Page No.: Book No.:

Series of 2025

ATTY. MAMIA

NOTARY PUBLIC L DEC. BL ZOZE

CORSOBORCETY FLORESS, P.

起种心护管的扩张。 Sto255 for Bo. 7277667 2021

的心脏的人们 TO COT ROLL NO. 48288 WOTAHAL COMMISSION N.C. NO. 2023-267

(DEPARTMENT OF PUBLIC WORKS AND Republic of the Philippines HIGHWAYS) By:

PRISCILLA B. JEBULAN District Engineer

Page 5 of 5